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Answer - (54) Sectoral  growth in education, health, social security

1) Consider the following statements :

a) The Direct Benefit Transfer Scheme was introduced on 1 January 2013.

b) In the begining this scheme was implemented in 20 districts in India.

c) This scheme is implemented to improve targetting, reduce corruption and control expenditure.

Answer Options :

1) (a) and  (b)  only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)

1-4 2-3 3-2 4-4 5-3 6-3 7-2 8-4 9-3 10-4

11-1 12-3 13-1 14-4 15-1 16-2 17-4 18-2 19-3 20-3

21-3 22-3 23-4 24-1 25-1 26-4 27-1 28-2 29-2 30-3

31-4 32-1 33-3 34-3 35-2 36-4 37-4 38-2 39-4 40-2

41-3 42-4 43-1 44-2 45-3 46-1 47-1 48-4 49-2 50-2


